11) If a certain health condition affects men and women in the ratio of 4 men to every 5 women, what percentage of people affected with this health condition are women?

First we add the two components of the ratio:
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The proportion of the total population affected by the health condition who are women is calculated as follows:
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We convert a proportion to a percentage by multiplying by 100:
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We are asked to round off our answer to 1 decimal place. Since the number in the second decimal place is 5 or higher we need to increase by 1 the digit in the first decimal place so the 5 becomes 6:
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to 1 decimal place.
55.6% of people affected with this health condition are women.
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